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Binary trees

sorted tree, find any key in O(lg(n))
heap, access highest priority in O(1), add and remove in
O(lg(n))
more advanced version to keep balanced
could be implemented using an array
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typical usage

211 34/malmö

111 15/stockholm

731 30/köping

283 31/osby

702 10/örebro 744 31/heby
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k-arry trees

A tree with more than two branches in a node.

more of the same

keys and values are present in each node of the tree
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what if...

The keys are implicit in the path from the root to the node of the
value.
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the path is the key

1 2 7

1 8 0 3 4
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let’s do like this
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usage

we need to be able to divide the "key" into sub-keys
dictionary, each level is a character, a path is a word
words will share paths: small, small-e-r, small-e-s-t

8 / 9



usage

we need to be able to divide the "key" into sub-keys

dictionary, each level is a character, a path is a word
words will share paths: small, small-e-r, small-e-s-t

8 / 9



usage

we need to be able to divide the "key" into sub-keys
dictionary, each level is a character, a path is a word

words will share paths: small, small-e-r, small-e-s-t

8 / 9



usage

we need to be able to divide the "key" into sub-keys
dictionary, each level is a character, a path is a word
words will share paths: small, small-e-r, small-e-s-t

8 / 9



hashed array mapped trie

Use a hash function to produce a fixed size key.

Divide key into fixed sized sub-keys (5-bits).
Each node consist of a bit pattern (32-bits) and an array of
node pointers.

The original key is not given by the path.
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